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You may say; he intends to strengthen the utensil

OVERVIEW

X"X 27 72 XX 27 ruled that one who threw a moist peg into an oven is liable for
2w (cooking). The X3 asked; it is obvious! The X713 answered; one would think
he intends to strengthen the peg, therefore 8" 92 8" taught that he is 21 for Hwan.
Our moo1n discusses what the X" was, and what is the R1p0n.
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This is the explanation (of the X"177); we would have thought that since X > W5
101 X, so there is no ®wsa at all, so this is what X"7 92 X"9 is coming to teach

us, that granted 3152 Rp X% 1°2% (which by itself is not »12°2) -
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Nevertheless there is 2122 occurring with this peg, for first the heat of the oven

makes the peg soft (which is 7%°2) and later it hardens it, therefore he is 2°°n
because of Ywan.
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However one is not to explain the »'"%» to mean that we do not say Xi» s wb

7972 KRP but only to make it softer, and therefore he is Ywan oywn 2°°1; this cannot be -
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For in p7nyn PR P99, regarding this gentile who threw a moist peg into the

oven, X1°27 ruled that even if the >121 heated up the oven for his peg -
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If a Jew placed a raw gourd/squash in the oven to be cooked, before the "21

threw in the peg, it is properly done and there is no concern for "2y 512 -
$19191 NP NI YMNIYD 10 ¥1WN R 191910 NP NI $DIVAD R1INT 1NN 2IWN) ‘RVIY 7999)

And the X asked; it is obvious that it is not 22y 7wa! And the X
answered; one would have thought that the "721 intends to cook the utensil
(peg), therefore X121 teaches us that he intends to strengthen the utensil.’

! mpoin (by writing 9"77), is negating the w197 X (mentioned shortly). See *» 7 7"7 >"w75 who seems to be in
agreement with npoIN.
2 It will be necessary to say that this slight 9172 is needed in order to strengthen it. Therefore there is also intent of
911 here as well, in order to strengthen it. See ‘Thinking it over’ # 1 & 2.
3 The advantage of the w15% 1°X can be understood with footnote # 2 and the questions in ‘Thinking it over’.
41 " taught there previously that when the ™21 heats up something without the intent to cook, it is not considered
2"™2y 2w 3. 81°27 based his ruling on >".
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SUMMARY
The 5"np is that even though he intends to strengthen it, nevertheless there is a
cooking process taking place.

THINKING IT OVER

1. From our X723 here it seems that there is an intent of 772°2 by the peg (otherwise
he would not be 2>°17);% however from the X723 in 1"V it seems that there is no intent
of w12 there.” How can we reconcile these two n1a?!8

2. Should the 72 here by naw be considered 11207, or an W P09 11501 1R, or
a 7913 107X APRW 7OXRN?Y

5 1t is evident from that X3 that the intention of throwing a peg into the oven is (not for cooking it, but rather) for
strengthening it. Therefore the 2"np here cannot mean that it is not 131 Xp R N2, but rather that even though
1197 Rp RI1 *1W2, nevertheless he is still 2wan in the process when it is *97 %97,
¢ See footnote # 2.
7 See footnote # 5.
8 See H"np a7 ®,A% 1"y '01n and X"wIm " here.
9 See '3 MR PXMIX NMan.
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